NN ~
Yiem o 3\4%?73«“ ‘) (C\TY%I . 203

AN ¢
YU oT3A] /l-é 244 3 o, 2293
2013 cobe: HO2
TyufenT ®wHIG
ﬁ BOOKLET NO.
> T U9 : 150
N QT=T 79T STeol T T 300

(1) TR TR 150 SIar ye sied.  SHEaRH! T S foferamg geard soaqd! a1 wegfasd He
YT SA1Eq Fohe TR AT Wl REd A S 70 3 FE Y Ngeedld 8 T Yuaamih e

WWW T
@) A9 Ta-shHi gl S N RO
% Fereeerr Ao fosa ST AR Y

@) T BTSS! YRR FHHIF G Iq ke fafme Sl STufhade Ja-9am 7 faawar Tug sl
@ (31) T YA S Todoh TeAI 4 JAT 3O GAfaa! 37gA & 1, 2, 3 3707 4 378 w0 foos amed. o
IR ST Fald A I ShHTh STHRRS YETH U1 STUAHaE 798 FUar. 3791 THH
SHATHh T ITHH R THE AT Al Ha[9d FEARHIRHIR SR FE ST FTES AT HTe3s ! =TT,
TR AT Tad Shioodl PIgd aious arudd, Ui o7 e U arve 4.
() ST A faoaraTet AReT sRier gust Areaw fafed sho atre. & fawar=n ude 99+ 9uat aia]
TS WIN SE BIUUATA 3TN 3TE. ETHEe U fhar TISTTe TyaTHed TEuTaraiHos 1dr
ATgA Teral.

(G) T T HE O TR, ARAd 9 g SO andia. SEHes FeRl SV AT A Srdl Heee e faaern
AT Y HISHEd. A T HIEfn SR S8 T01 TETET Y99 FHoluT qTecard e 96 7 uoiaar §g i
USRS Taad. M Tehi RTe=A1 Ge-197d TR de Ricos Ufeeard #3230 o[ Seced] Teihs

(6) ITUMHHT Tehal THT koo IT Bl IUIR ATEl. THE hos IR WG e R eI 1 TuIies S 71E.

(7) TECA TRISTeAT STATAh & HeAToh s {aTAT SHEARTeAT STRUTAeha 1o arvg Ia T 0T faes i,
TY ' ST T8 TEuiat TR UTSAT YT feoedl I STuTieh! Haid 9 Soe Savutaeha
THE AT, AN AT ITUTHRT WISaoed] T A GeheaT IAarst et Wgarel 7T ol

r arsnis

T Yyt arel oanT fafed wodl 9@ Wuudd & WYt JMENTEl HronT 3TgA

THATHR ST IAIATAH GAATS ITUATH J0aATd A 8. & 948 UG T qoaqreqah o

a/ U, fhal Wet UyTqfeachdio HTE ATITE HIUTATE T UTa Uedel a1 AT LTaut

T HFAH qHaUT, T UG S0l &1 7T HET i il HIOmAT it IETA

IR hovedr ' udtenusd groman Iy gidey sivararaaen fataan-82"" ardte

SO THH Faiexd HIEETEAT AAETaR HEaTg H0a d30¢ 9 a6 Rl waS UH

aETeaT HRETETT 3T/ féhaT 93 Ts e @Al ger=T g urd g

T T YU TSt fafea Foeh Ao WauHtenel & AUt SMfUGRauul STl & Tl

T[T ST A6 HIUTHT ekt ST FHARGETIhT, TH THG=T THaerehiagarient s
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A 3 HO2

1. 142-3-44+5+6—7—8+......... +25426—27—28 =t 909 fordl (@S ?
1 -27 2) -28 (3) 27 (4) 28
What is the following sum ?
142—-3-4+54+6—-7-8+.......... +25+26—-27—-28="7

1) -27 2) -28 3) 27 (4) 28

2. 16 HFIRAT 100 Frea faqomaes 21 feas SrTar @ 200 9rewr 12 feaard faomgen fad e
SIS ?
(1) 56 (2) 28 3y 42 (4) 60
If 16 workers needed 21 days to weave 100 sarees , then how many workers will be
needed to weave 200 sarees in 12 days ?

1) 56 @) 28 (3) 42 (4) 60

3. 615 a1 Heg= (9w ®Ud Toheh T 3 ShivTar 2

(1) 4 (2) 8 (3) 6 4) 2
What is the unit digit of 61° ?
1) 4 2) 8 3) ¢ 4 2
X_7 Y oo
4. Wy SHIx_yaﬁmafﬁ"T?
1) 4 2 -2 ) 6 4 =6
4 x+y
If y ~ 5, then ;;j— is equal to :
1) 4 2 -2 3) ¢ (4) =6

5. W a+p=5 M0 o3+ p3=20. T AN FGHEHIME qb o T B TS d THHIT F1
3T ?
(1) *247x=5=0 (2) x2=7x+5=0 (3) x2+5x—7=0 (4) 22-5x+7=0
If a+B=5 and a3+ p3=20, then find an equation whose roots are o and B.
(1) x2+7x—=5=0 (2) 22-7x+5=0 (3) x2+5x-7=0 (4) x2-5x+7=0

6. 9+9x9-9+9 =t fFma 3TR.
1) 89 2) 79 3) 161 4) 81
The value of 9+9%x9-9+9 is .
1) 89 2) 79 (3) 161 4) 81
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5
7o (Px(5)
(1) 1000 (2) 100 (3) 5000 (4) .001
5
(1Px(5)
(1) 1000 (2) 100 (3) 5000 (4) .001

8.  wfed, Tgam & et A fHezd 228 o1ell Thedr. S HEdnT 3 HEIIe) 12 91 §ed e a 4
WETET 9 UTell hH! Hedl STEae a qieA fohal o1 e ?
(1) 81 (2) 82 3y 75 4y 78
Sachin, Sehwag and Dhoni together scored 228 runs. [f Sehwag scored 12 runs more

than Dhoni and Dhoni scored 9 runs less than Sachin. Then how many runs did Sachin
score ?

1) 81 2) 82 @) 75 (4) 78

9. UH vy HaU frhe Qo U80 919 5 Se el 918 G801 97 3T, i) <&
! YA 82 UE FHI TEL. T HIARI Lol SN Sk S uie g fhdt o wohe ?
1) 172 (2) 157 (3) 98 (4) 118

In a total of 5 one day international cricket games Rahul has scored runs at an average of
97. In every game he scored atleast 82 runs. What is his highest score in any game ?

1y 172 2) 157 (3) 98 4) 118

10. @i Koo sw=E! fhad fodl ?

er_______\/Rx\/O?
12
16
1) 1.0 @) 2.4 @) 2.1 @) 1.1
What is the sum of :
60156 + YL X0
12
16
1 1.0 @) 2.4 3) 2.1 4 11
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11. 19 HTa fawd IR 99 S SRt sl 251 8. a1 &l ShiveT ?
1) 579 (2) 3,57 (3) 2,35 4) 7,911

The sum of the squares of three consecutive odd positive non-zero numbers is 251. The
numbers are _

1) 5709 2) 3,57 3) 235 4) 7,911

12. 54_\/2_4 ﬁWWﬂﬁ7

M 1+2 @ 1+43 B) V243 4) 5+
What is a square root of 54./24 ?

1) 1+v2 2 1+ 3 (3) 2+3 (4)  J5+/4

1 1

13. S 2¥x85=25, aF x =t fouq fawe ?

n 4 N 5 2 P

) @ ® 3 @
11

If 2*x85=25, then x is equal to :

W 3 @ = ® 3 @ =

14. ST A 3001 B 91 g W= GOEY (989) 20 3R, B C 9] TUEd 19, 999 C 9 A =7 Ul
21 3 WA =t f5mg g ?
1) 24 2) 22 (3) 20 (4) 18

Average of two numbers A and B is 20, that of B and Cis 19 and of C and A is 21. What
is the value of A ?

(1) 24 2) 22 (3) 20 (4) 18

15. S 2x=3y=4z, Wx:y:z =7?

(1) 6:4:3 (2) 2:3:4 3) 4:3:2 (4 3:4:2
If 2x=3y=4z, thenx :y : z =?
(1) 6:4:3 (2) 2:3:4 3) 4:3:2 (4) 3:4:2
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16. T ST 8 IS & YU ISR § § HITEITH MR 2 Fdl. T a3 H@Iqd 4 9 H&d
FUTT HETH 4 A 9FTS T WY Tl 456 7
(1) 24 2y 5 3y © (4) 12
After substracting 8 from a given number and dividing the resultant by 8 we get 2 as a

quotient. Now substracting 4 from the original given number and dividing this resultant
by 4 what will be the quotient ?

(1) 24 2) 5 3) 6 ) 12

17. T e 98 1fee U 6 3R & | MUK 2 3R A S 9 9 U8 i TH 7

(1) 50 (2) 22 (3) 1536 (4) 1236
The first term of a geometric series is 6 and ratio is 2. Find its 9th term.
(1) 50 (2) 22 (3) 1536 (4) 1236

18. wWiole vrmeNET feaa fodt ?

1
A
o
9
(1 2 2 0 3 -1 “4) 1
What is the value for the following division ?
1
N
1
2- 1
2— —
(1 2 2) 0 3 -1 4) 1

19. TG I G

1.93x1.93+1.93x4.14+2.07x2.07
3.86+4.14
(1) 1.93 2y 1 3y 2 (4) 2.07
What is the correct answer for the following division ?
1.93 X 1.93+1.93x4.14+2.07%x2.07
3.86+4.14

(1) 1.93 @ 1 k) 2 4) 2.07
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20. U HEAT45% A diede! qeal fasl fhad 116 8id a% d H&a1 HIod! ?

(1) 82 (2) 80 (3) 75 (4) 85
If a number is increased by 45% then it becomes 116. What is the number ?
(1) 82 (2) 80 3) 75 (4) 85

21. HAOEA oo Sl € Wree S FRO A 2

(1) A= Hmr fg9sH w8 (2) AT FaTd THAR FEd
(3) b st (4)  TORITA T
What is the energy received from the sun due to ?
(1) Nuclear fission (2) Nuclear fusion
(3)  Chemical reaction (4) Motion of electrons
22, SG(oEa THTIHE

(1) Toea st 9oargs Feel S

(2) HEGTH TUATS A Ferd ®Uid TEd SHeid h .

(3) AT T A1hd HEd AT (e fagd ffidr w&t S,
(4) m@wwﬁaﬁu@aﬁwwﬁaﬁaﬁ

At Hydroelectric power plant _

(1)  Electricity is extracted from water

(2)  Kinetic energy possessed by stored water is converted into electricity
(3) Water is converted into steam to turn turbines and produce electricity
(4) Potential energy possessed by stored water is converted into electricity

23. RIS e TH QU ST SUERET AE g A YT TR
(1) Feafas o fas Ssid SR .
(2) Tfas Sere feafdst el ETa #.
(3) feufas =l feor @M.
(4)  Tfast it feer .

Complete the following sentence meaningfully.

Winding of a spring in a working clock
(1) Converts potential energy to kinetic energy

(2)  Converts kinetic energy to potential energy
(3) Potential energy remains constant
(4) Kinetic energy remains constant

HeoeAT HIETEE W / SPACE FOR ROUGH WORK
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HO?2 8 A
24. S el

(1) TeRToTIea il Womenfieh (11) U

(a) qfTEm () FHTMENS ITFR

(b) & (i) MF =TS ITER

(c) arateq (iii) A FH

(d) A (iv) S

(@ (b) () (d)

@ @ @ @ )

2y Gv) () @) ()

@) @) () @ ()

4 Gv) () (i) ()

Match the following

(I) Radioactive isotopes (IT) Applications

(a) Uranium (i)  Treatment of Cancer

(b) Cobalt (i) Treatment of Goitre

(c) lodine (iii) Age of fossils

(dy Carbon (iv) Atomic Reactor

@ (b)) (3 (9

O @ @) @ (i)

2 (v) ) @) (i)

3y @) @Gv) @ (@)

@ () @) @) ()
25. @AIGUH! SV ST/ FHIE A TS 2R ?

(A) TeSt EHF VS TR SSiE

(B) =¥l S8 HHT qTIHME U2 Hd

it 39T

(1) e 9 (A) a8, (2) e AT (B) ST 3R,

(3) <RI A (A)F (B) TER @A (4) Q8! a1 (A) I (B) TSR AR

Which of the following statements is/are true ?

(A) Ideal fuel should have a high calorific value.
(B)
Answer options :
M
()

Ideal fuel should have low ignition temperature.

Only statement (A) is true.
Both (A) and (B) are true.

()
(4)

Only statement (B) is true.
Neither (A) nor (B) is true.
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26. TGRS THROTEE!
(1) frafa ket SEvaE R,

(2) wreAT (Hifas wwq fHar vere) sevas o,
(3) HILAHTAIS YT ] TACTIRT THOT=AEd FarH FHIaw.
(4) TOSUH FEE AL

In case of propagation of sound waves :

(1) Vacuum is required.

(2) Medium (physical object/matter) is required.

(3) Particles of the medium travel from the source to the listener.
(4) None of the above.

27. WGBS HIVA AR TS R 7
(A) IR & 0 a1 Ao TH Adm.
(B) oI & X1 SfEI0T AT TIR BT o SR YAIde JIawd.
gt I
(1) Thad a1 (A) SRR 3TIE. - (2)  ad 91 (B) T TR
(3) T A (A)F (B) TS SRA. (4) Gl 9 (A) 9 (B) TS T

Which of the following statements is true ?

(A) Magnetic field lines come closer to one another near the poles of the magnet.
(B) Magnetic field lines originate from south pole and end at it’s north pole.
Answer options :

(1) Only statement (A) is true (2)  Only statement (B) is true

(3) Both (A) and (B) are true (4) Neither (A) nor (B) is true

28. U ITEET YAE FIUAT TATBARTE SATHT Fles {€Hd, FHRIT
(1) EY IFER J[E @ (2) W fafeTr B e
3) T (1) 9 (2) N AR (4) =Y R T
To an astronaut, at very high altitude the sky appears dark, because :
(1)  There is no atmosphere at high altitude.
(2) Scattering of light does not take place.
(3) Both (1) and (2) are correct.
(4) None of the above.

THoeAT THTHTETS AT / SPACE FOR ROUGH WORK
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HO2 10 A
29. SIS @EL
T - 1 A - 11
(a) =L@ TH () wIBH
(b) e g (i) =
(c) WHI® FIS (i) IR feieym
(d) aERE (v) HieA
(@ () (o) (d)
1 ) O 6@ 6@
@ @ G Gv) G
@) @) G 0 W)
@) v @) ) @)
Match the following :
List - I List - II
(a) Natural gas () Coal
(b) Petroleum gas (i) Butane
(c) Fossil fuel (iii) Anaerobic degradation
(d) Biogas (iv) Methane
(@ (b) () (d)
1 ) @ (@) (D)
2 @ @ @v) (i)
3) () @) @ (@)
(4) @Gv) @ @ (i)

30. IV UiHAd, TEEY ISUE §aEy TR SE 7 i Wl aigEy qereid 9 2id 7
(1) =T (2) TR (3) drSHI9EA (4) gwed

What is the process in which, solid, on heating directly goes into gaseous state without
going through liquid state known as ?

(1) Solidification  (2) Liquidification (3) Evaporation Sublimation

4

31. WOSUh! HIUET T I YIS YEIFLUTHIST IR Host e ?

(1) & (2)  Yvar giel
(3) =B wEer (faisn 907) (4) fEmaE
Which of the following is used to refine petroleum ?

(1) Soap (2) Washing soda
(3) Bleaching powder (4) Baking soda

HoedT M ST / SPACE FOR ROUGH WORK
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32. U™ HyouumE! fsan feten aeadmeie v wid wid ?

(1) T (2) Tewt @re

(3)  dred T Fome (4) o w4

In which part of the green plants, the process of photosynthesis takes place ?
(1) Leaves (2)  Green stems

(3) Flowers to a lesser extent (4)  All of the above

33. WISIBUH! SV ST/ FHI0d IT SIS 3T 2
(A) TORGEN JaIg HU TR YAIHST & GO garhs STl
(B) s yemsrd fawn faga uren favs o

T 39N
(1) T (A) TR TR,
(2) AR (B) I ATE.

(3) aﬁ%erraﬁ( a(g)aﬁma@a.

(4) T AT (A) T (B) TR TR,

Which of the following statements is/are true ?

(A) Flow of electrons is from negative terminal to positive terminal.

(B) Direction of flow of electrons is opposite to the direction of current.
Answer options :

(1)  Only statement (A) is true.

(2)  Only statement (B) is true.

(3) Both (A) and (B) are true.

(4)  Neither (A) nor (B) is true.

34. TSI YEIGUHT HIvRA] HRUIMS {50 ?
(1) W91 FoRTor wol o7iqfier Qe & SreRon= gUeAT Qe oo ehuT/ Hqadd
(2)  Wehret foRTorre Hyel oTiafies a9 AT Eiee fav Sk iehol/ e
(3) W fRTorE S e
(4) VT RO STHAGET oI/ e

A mirage occurs due to :

(1) total internal reflection of light by atmospheric refraction upward.
(2) total internal reflection of light by atmospheric refraction downward.
(3) reflection of light from the ground.

(4) refraction of light from the ground.

HeeT SIS ST / SPACE FOR ROUGH WORK
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35. Sl @l
o - 1 (T saeRon)
(a) ez g4
(by A= H4
() T
(d) zofeF 79 (zo)
@@ () (@ (d)
W O G 6@ W)
@ G @) 0 )
@) ) 0 (v (i)
@ G @) G0
Match the following :
List - I (Electrical appliances)
(a) Radio set
(b) T.V. Set
(c)  Refrigerator
(d) Electric Iron
(@ (b) () (d)
MG @ @ @
@ G (@) 6 )
@) ) O Gv) G
@ G @) ) 6

12

qret - 11 ( 9HTId: uiay)

) 120W
i) 750 W
i) 80 W

iv) 150 W

List - IT (Usual power)

@ 120 W
(i) 750 W
(i) 80 W
(iv) 150 W

36. ST GO &9 o5 Wi, A aTeTdl qu fe@d. a1 sifufrda s SdveE wn i 2

(1) TS ERs
(3) WEwE

) T ¥

4) fo=

Hydrogenated Oil (vanaspati ghee) is obtained by reducing vegetable oil. What is used as

a catalyst in this reaction ?
(1) Manganese oxide

(3) Cobalt

(2) Raney nickel

(4) Zinc
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37. WISt HIO TR ST 3T ?
(A)  FHl fagaueErEre! S+l Sfei<l, e TR S
(B) W fagauurand! FHl SiElEl, I (thin) TR ST
At 39
(1) T a1 (A) SR 3R, (2) ekl SR (B) AR AT,
(3) TR AH (A) D (B) T AR, (4) A= A (A) T (B) TR TE
Which of the following statements is true ?
(A) Short length of a thick wire is used for getting low resistance.
(B) Short length of a thin wire is used for getting high resistance
Answer options :

(1) Only statement (A) is true (2)  Only statement (B) is true
(3) Both (A) and (B) are true (4) Neither (A) nor (B) is true

38. THIGIBUYH! HI ST/ HIVT dTeRl FEL 3T 2
(A) ST I AU 59 SUTSS HIhTeA U@ b1 St 7ed fieosuard 4.
(B) @l T Tl werdl,
Tt I
(1) T AR (A) TR SR, (2) T AT (B) T TR,
(3) TG I (A) S (B) SR SMEA.  (4) Tal ORH (A) G (B) SER AT,
Which of the following statements is/are true ?
(A) A strong smelling substance Ethyl mercaptan is added to LPG.
(B) It helps to detect the gas leakage.
Answer options :
(1) Only statement (A) is true. (2)  Only statement (B) is true.
(3) Both (A) and (B) are true. (4) Neither (A) nor (B) are true.

39. YETBUH! v HROgE s fAfifdt 85 2
(1) HIETHIGIS HOT] SIS,
(2) TISHE R THOHGS.
(3) WIS HUISAT e YIS .
(4) TN ST IREeT T,
What results into production of sound ?
(1)  Vibrations of the particles of the medium.
(2)  Friction of the particles of the medium.

(3) Translational motion of the particles of the medium.
(4) Rotational motion of the particles of the medium.
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40. i fqOTY] GEER T e Fareay Uiy w2

(1) feweres == (2) WA BTAH

(3) TH M = =EE 4) f=teErra

Which of the following viruses enters through the mouth and affects the nervous
system ?

(1) Hepatitus virus (2) Polio virus (3) HIV-Virus (4)  Anti virus

41. TYEio I fauHET faur &4

(2) g foram et fommoft wigere Tadi Bidl o Forn 9 AHsed S= gig Fa8 el qe)
HHSTE foehrd et 991 a1 IRfEdE W ySel.

(b)  HIATEHT AT HHhed Tl ard FRONYT .

GRS

(1)  9gA faum sRaR Tig g YoM faymmeRid SR 7.

(2)  wug faum s¥eR 9 gEY WoH faUmmeRdl s .

(3) WU T HAE HeS SHATEET Je=] SOl 99 3gHGd AT,

(4) 9¥H SFyan i Fvee faum ates T,

Consider the following two statements :

(a) Earlier matriarchal system existed atleast in some areas and women were superior
to men, however this position changed with the progress of human civilization.

(b)  The concept of division of labour is responsible therefor.

Now state whether :

(1)  The first statement is correct but the second statement is not the cause of the first.
(2)  The first statement is correct and the second gives its cause.

(3) The first statement itself is incorrect therefore the question of the second being a
cause does not arise.

(4)  Neither the first nor the second statement is correct.

42, AIfdeN TS g CHee’ & uedt A fedt.
(1) e A (2) fafen wm
(3) YU S (4) THIARHT 9
Jyotiba Phule was honoured with ‘Mahatma’ by -
(1) Citizens of Mumbai (2)  British Government
(3) Citizens of Pune (4) Citizens of Satara
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43. ‘T 1 A fawn faerfaa’ @ TEm 1udl arwidl sl S ?

(1) faar. TR (2)  TITes TOTYr SRR

(3) wedl 4iel HyE Fd (4) foorereh dfeq

Who has translated the play ‘Hamlet” into Marathi as ‘Vikar Vilasit” ?
(1y  V.D. Savarkar (2) Gopal Ganesh Agarkar

(3) Maharshi Dhondo Keshav Karve (4) Vishnushastri Pandit

44. ‘AESEGEIS! T ¥H, TH WG, T 396X &1 5o sy foo) ?

(1)  HesT = (2) e gE

(3) TIANY FEE (4) < TR

Who gave the call of ‘one religion, one caste, one God for mankind ?
(1) Sahadaran Ayyapan (2) Narayan Guru

(3) Hridaynath Kunjaru (4) T.M. Nair

45. MG Higamdie e g4’ & @A RIveH 9iige YRR Hed ?

(1) == (2) R (3) A (4) eh
To which form of literature does ‘Neel Darpan” in Bengali literature belong ?
(1) Story (2) Novel (3) Poetry (4) Play

46. St TGV TH. DES-TSR FBdD S ATSAT F16d SIS HIV fFHH TR AT ?
(1) S gom AR Hoea-are oo geq STaifyH o Fel,
(2) @ = fRg-Hften el 9ol shoedl HOrearsdl SHTETEd E daig @l fwdre J8re

FREATG ST
(@) M IR A 49 3 (R 0 AT
(4) TG T AL

Which of the following statements is incorrect about N.M. Lokhande-the father of labour
movement ?

(1) He established the first labour union called Bombay Mill Hands Association.
(2
3
(4

) He was awarded the title of ‘Rao Bahadur’ for his work during Hindu-Muslim riots.
) He was awarded with ‘Justice of Peace’ by the government.
)

None of the above.

HTT HITEIS! S / SPACE FOR ROUGH WORK

P.T.O.

www.adda247.com/mr |  Adda247 'FRTopprp | https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

HO2 16 A

47. HIdIn NI HAHAT EIGUH! HITH HEHN Fogdl 7

(1) YIRATA YEel TaR FX0. 490aTE e AT Exut

(2) HARET HIVER HETH] TH H@0

(3) A ORAH 9§ Ta¥ AT TEAR goel aieu] Sushed fafey WU deavid U5, i
(4) oo gaian & FRIEHE HEHT Sl

What did not form a part of the programme of the revolutionaries ?

(1) To make weapons in India. If not available then to get them from abroad.
(2) To get money from the rich by adopting any method.

(3) To destroy railway lines and other communication so as to cripple the British; or
administration.

(4) All the above formed a part of their programme.

48, TGS 39 AT THEAE 10 O 1930 IS\ SuSfaeg fadiy guifavarg =@ & 7
(1) I A8 TR %o 9 God wREeYT 9zadd GEHE A1,
(2) @A ST greRte fasmoaTETel | e,
(3) I TEE SIS TEd FYT @ HAS HIEA.
(4) T ITETE O Wed FEA A S DD,
What did Bapuji Ane do in Pusad on 10" July 1930 to protest against the British ?
(1) He made salt and joined civil disobedience movement.
2)  He held public meetings to auction salt packets.

(
(3) He broke jungle laws by cutting grass from the reserved forest.
(4) He collected foreign clothes and put them on fire.

49. 'IISTYE HHEER S0 4O ST(YE FFSH. HIl AEYHY Way HEre! vt e e
T T TR FTR 2
(1) W (2) TSIgE
(3) AT (4) SEEHER HEE
“T would like to be hanged till death than be imprisoned for life. T wish to reborn for the

freedom of my motherland. And every time would I like to be hanged till the liberation of
my Motherland.”- Who said it ?

(1) Bhagat Singh (2) Rajguru
(3) Kartar Singh (4) Swatantryavir Sawarkar
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(1) W T T8 gFad -
(2) il YRdE @@ 28 e w™
(3) wifee ardE 3 gftea w0
(4) e yrRdE fHEF 991
International Labour Union recognised which Labour Union as a representative of Indian
labourers ?
(1) Indian National Trade Union Congress
All India Red Trade Union Congress

(2)
(3)  All India Trade Union Congress
(4) All India Kisan Sabha

51.

52.

T TN = 9 T FRATTA A el S -
(a)  HTET TSy (i) TR
(b) =lfagTy = (i) A
() TRHERY @Y (ili) FAA
(d) TR aRge (iv) @i, TR
(@ () (© ()
(1) (v) @i @) (i)
(2)  (v) (i) (D) ()
3 @ (@ @G ()
4) @@ @ @{v) (i)

Match the armed revolutionaries with their areas of operations :
(a) Shridhar Paranjpe

(b) Dr. Siddhanath Kane
(c) Dadasaheb Khaparde (iii)
(d) Narharipant Gharpure (iv)

(i) Hyderabad

(i) Amravati
Yavatmal

Wardha, Nagpur

(@ ®) (o ()
(1) (v) @) @ D)
(2)  (v) @) @G) ()
3 @ Gy @) (@)
(4) () (@) (v) (i)
Tore SHTE Fiaes Sl Giaeiyg fedatdis @97 1910 988 aifea Fol, =R HIvm=E g9e
BT ?
(1) Shan s () ST T
(3) =i JrEaTEl. (4) IO FHIUTER -

Shivram Janaba Kamble who organised Somavanshiya Hitavardhak Conference in 1910

was influenced by :
(1) G.B. Walangkar

(2) Jyotiba Phule

(3)  Both the above.

(4) Neither of the two.
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53. WS@TE! HIUA fGum gehtd o118 7
(1) Has fSeg 91 GRS aiH! T3 TErR-Sal §E R 60,
(2) FwEqUS =eRTol qH! FBacd Wi Hael.
(3)  TH 1 F R HREE AT 6.
(4) = T L
Which of the following statements is incorrect ?
(1) In Satara district Nana Patil formed “Patri Sarkar” - a parallel government.
(2)  Yashwantrao Chavan contributed to the movement.

(3) They organised Prabhat Pheris and carried out militant activities.
(4) None of the above.

54, WET® HM FHE T TS FANAId TSR B, fee® 9 SR AN wY garyd
gl ?
(1) o FE0 U 9 IR TUE| 1881 U HE Fo.
(2) HAFREHTHA! HUST W feeahidl e HuET +e.
(3) oIS TEl faum s oTRa.
(4) I TwEl fauA se TR

During the Extremist period ‘Kesari” and ‘Maratha” were in the forefront in creating social
awakening. How were Tilak and Agarkar associated with the two ?

(1) They started "Kesari’ in English and Maratha in Marathi in 1881.
(2) Agarkar edited Maratha and Tilak edited Kesari.

(3) Both the above statements are correct.

(4)  Neither of the above statements is correct.

55. i@l Gediered FwivE faum sgma gl ?
(1) @A T T IS K@l 1824, 1839 T HAR 1845 HEA,
(2) I, W9 il d ERI Hi a4d T &l 9 HERd Hl scaeiqed faqre 2.
(3) UV FIS D I ARIHE [ YIehSS TEr.
(4) e uHE L

Which statement would be incorrect about the Kolis and their revolts ?

(1)  The Kolis revolted against the British in 3 (three) phases in 1824, 1839 and around
1845,

(2) Kolis were divided between Sadhe Koli and Dongari Koli and between Son Koli,
Mahadev Koli etc.

(3)  The British could not control the revolt of Kolis.
(4) None of the above
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56. AEH ddd HSHAET FHA L AR ?

(1) & T e SUfavaTHd] Te! TEel gl o HiYgsal Jud Sl STISrdl Hol.

) wefas el afftadys 3 3os fgo oof &% e Tl 9 goma: @ TR T
ol § T L&A,

(3) qeddE THIIE A Hed Bt W T THIEAA! = wy e,

(4) SR THE! TR

What is not true of Vasudev Balwant Phadke ?

(1) He sported a beard to hide his identity and disguised as an ascetic created
consciousness among the people.

(2) He could not complete English education due to financial condition of his family
and he first worked in the military department and there after in Railways.

(3) He initially worked with Ramoshis who later deserted him.
(4) None of the above.

57. U TSI 3w HOATH SUSA TI HT HHS ?
(1) SIS e W gt Aifed! fHesd B,
(2) VARG G MRS @ FYF F A HUD 8.
(3) F@ I faum SRR
(4) IS FIVIAET TSR TR,
Why did the British Government fail in arresting Umaji Naik ?
(1)  Umaji got all the information about government activities.
2)  He got stimulation and support from peasants and villagers.

)
) Both the above are correct.
) Neither (1) nor (2) is correct.

(
3
(4

58. ‘TorEn fadhTe FH WHTET' T S GHSEE Svarret  areitar’ 71 oY sl fofier ?

(1) «a gHm () A TEA

(3) T Hd FeheISl HEHI 4) §q e

Who wrote the book ‘Gramgita’ to teach the people, "how to develop a village” ?
(1) Sant Tukaram (2) Sant Eknath

(3) Rashtra Sant Tukdoji Maharaj (4) Sant Namdev

59. gtesidal I I wHoAHS! fafee aara Sivm Wad faesr f9 e ?

(1) GTe geul (2) He= wid

(3) T o (4) GU@ TWH

Which separate district was created by the British Government to pacify Santhal ?
(1) Santhal Pradesh (2) Santhal Prant

(3) Santhal Ilakha (4) Santhal Paragana
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60. @8 WER fZesd A1 S, ST o3 ATeATeied 9T $hsed] BIEe B died &3 Gl T8 7
(1) o= =@ Ui weem arefauaren A @i avE FvaTET g
(2) Tafewit fae seuwar tfaw. adwm y=i=l q&hears] Hal.
(3) el o ST S qErAiATel [To shieish AT R SAel.
(4) oo Tl AL
What is not true of the Home Rule League established by Bal Gangadhar Tilak along with
Dr. Annie Beasant ?
(1) 1t aimed at widening the scope of national organisations and also empower them.
(2)  The british decided to suppress it. Press was subdued.

(3)  The Moderates and Muslim League leaders also attended its activities.
(4) None of the above.

61. TA 1927 ued =f. o AR, AFSHTA & Fo0 diepd YR’ § F1F 819 ?

(1) Wi ) 2= (3) wrdTEH (4) feT
What was ‘Bahishkrut Bharat” which was started by Dr. B.R. Ambedkar m 1927 ?
(1)  Monthly (2) Daily (3)  Weekly (4) Fortnightly

62. 1857 <A1 SITETET Ush HHIIeTeh GHOTH o7 ?
(1) TF HIEIT 95T F.
(2) 3% fean oA TEHRD 5T GY=A 3.
(3) 79 IMUR I IR Ugdiq are
(4) TEg-mfvem temen a1 e
What is one of the social effects of 1857 revolt ?
(1)  Change in military organisation
(2) Rule of East India Company came to an end

(3) Growth in new Industries and commerce
(4) Rift in Hindu-Muslim Unity

63. VI SRT<ilhehIT SUMHS 614 THers ?
(1) Seon 9 Sl FafquarE] s,
(2) o Wea 9 e R
(3) ISR
(4) TS e R
What did the Indian revolutionaries get from Japan ?
(1) Inspiration and technique of bomb making.
(2}  Monetary help and arms supply.

(3) Both the above.
(4) None of the above.
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64. T THZ TEAT @M A
(1)  HrEge fae Far
(2) OTHIME! WET Tgare foriy geffee.
(3) T oy g e
() e e i e e
Sir Syed Ahmed Khan
(1) Opposed the Congress.
(2) Opposed the democratic government system.

)
(3) Encouraged the western education.
)

(4) All the above options are correct.

65. TSN THETET UG A1 Wl Ugdl faeg W o oo, @ees ' aredmene! i qHasid=r g9
273N WRTET IO et 2
(1) WA 2) wist feww (3) @€ fwm (4) wm

Who appreciated Raja Rammohan Roy as “humanist and the reformer of human being”,
because of his struggle against Sati ?

(1) MK. Gandhi (2) B.G. Tilak (3) Lord Ripon (4) Bentham

66. T E RS oo W HS?
(1) R GFIH S 1 STRareM oy e,
(2) ST T SEAToRT WEHd AR,
(3) TR B [ER! TS AN T
(4) Ui Wd q afyss YR S
Why did the British neglect the Nehru Report ?
(1)  As the Muslim League opposed it.
(2) Gandhiji was not in agreement with it.

(3) Some of the congressmen were not in favour of it.
(4) The British thought that it was too progressive.

67. TF 1930 T ANE AT FleN™ AGUd STEILA YAl QVATHIST FIVi G 6ol 2
(1) wfesiteE $ ) <f IEHRY gt
(3) el HO (4)  rere i

Who did the Satyagraha in 1930 at Nashik to allow the untouchables, an entry in the
Kalaram Temple ?

(1) Savitribai Phule (2) Dr. Babasaheb Ambedkar
(3) Mahatma Phule (4) Mahatma Gandhi

oAl HTATATE! W / SPACE FOR ROUGH WORK

P.T.O.

www.adda247.com/mr |  Adda247 'FRTopprp | https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

HO2 22 A

68. T FETHRY TISH T RV MeHS TRERd IUTEd Bid ?
(A) Ul Mons aiwg
(B) gERI MeHS URwE
(C) Toed mews aftwg

TgiEr I
(1) (A) % (2) (A) 30T (B) e
(3) (B) U (C) ®H 4) (@A), B), ©

Dr. Babasaheb Ambedkar had attended which Round Table Conference ?
(A) First Round Table Conference

(B) Second Round Table Conference

(C) Third Round Table Conference

Answer options :

(1) (A) only (2) (A) and (B) only

(3) (B)and (C) only (4) (a), ®), ©

69. THA hicssTd YA WU HIVI 1T HS 7

1) o fooh (2)  TirTEs IO TR

(3) T F MES (4) Toopems faugue

Who has worked as a Principal of Fergusson College ?

(1) Lokmanya Tilak (2) Gopal Ganesh Agarkar
(3) Gopal Krishna Gokhale (4)  Vishnushastri Chiplunkar

70. @R fSeendie 91 A wed 22 N AR Y’ S {6 2
(1) TSI et sqel. &l G@hs Aisfae.
(2) 3 A A I ETAAT S foiEre W e,
(3)  SuSTHAT mEfSAT T forRie HRaERd eF He.
(4) T T T,
What did the Chauri Chaura incident in Gorakhpur district in which 22 policemen died
not result into ?
(1) Gandhiji was shocked. He called off the movement.
(2)  The commoners and even the congress leaders were angry of the Gandhijis ; decision.
(3)  The British arrested Gandhiji for anti government activities.
(4) None of the above.
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71. . SR daSHUEd [@ie 3 fauman o= 3.
(a) <fedi=al TS THFRIEET @A T 1936 Wed T AL Telle! €91 e,
(b) A e Fd SR H ST fEg e ot war fig TRvR A
(c) d = gl MHade s adl @i g5 od wener
T HIOAT fagr SR e ?
(1) (a) =AM (b) (2)  (b) S () (3) (a) M () @) (@), () ()
Consider the following three statements about Dr. Babasaheb Ambedkar :
(a) He formed Independent Labour Party in 1936 for the political rights of Dalits.
(b) He said “though he was a born Hindu he will not die a Hindu”.

(c) He died in the same year in which he embraced Buddhism.
Which of the above statements are correct ?

(1) (a) and (b) (2)  (b) and (c) (3) (a) and (c) (4)  (a), (b) and ()

72. WG QA Y faER S
(a) e e WHEL e fe. 1 Atk 1942 sf feeeten 1o & srgsi $7oiT Hee.
(b) T R 39 TR Foed feaieRta = g g
ST HI S -
(1) S faum @l ed o (b) © (a) = HROT AR
(2) e faum Tl SR W (b) ® (a) T HRU AR
(3) fauM (a) SR &8 9L (b) TR
(4) RS S faum ateR TR

Consider the following two statements :

(a) Prof Bhansali from Sevagram Ashram went to Delhi and met Bapuji Ane on 15
November 1942.

(b) He wanted justice for female victims of Chimur.

Now state whether :

(1) Both the statements are true and (b) is the cause for (a).
(2) Both the statements are true but (b) is not the cause for (a).
(3) Statement (a) is correct but not (b).

(4) Neither the statement (a) is correct nor (b).

73. WA 1858 = A=A SRR HI0Te YO 3fd g7 377 ?
(1) fermamEme! (2) wERIER! (3) HTEdETEl (4) TBVEAmE!
Which policy was discarded by the Queen’s manifesto in 1858 ?
(1) Expansionist  (2) Imperialist (3) Colonialist (4) Terrorist
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74. YO, 30, YNATE I HaE AY TEOD SEAS] HRIHH FHT HRAl HUAN 3T ?
(1)  ROT el AT T Sfor Hile=n qesn Togdl.
(2) TRV R AT THSHM FEWI AT TEM.
(3) OIS &I THTAT AT,
(4) HRU ATHRGST S ATHE Bl
Why was the liquor Prohibition Programme launched in Pune, Thane, Dharwad and
Mumbeai called off ?
(1)  As it was not supported by Gandhiji and the congress.
(2)  As it was not supported by Indian Muslims.
(3)  As Gandhiji was put behind bars.
(4)  As the fines imposed were heavy.

75. Woe e[ faur val
(a) el 3fF 1881 B TE1 HeF Bl
(b) IR STFEH 1881, 1892 T 1948 ® TN BEHIT TN %o T SN HTHIRIE] HEAT ITUR

Ei IR
i 39
(1) <R faum siEr s (2) uHE fgum 9 T
(3) faum (a) F0=R AR (b) L (4) Ta4M (b) ISR 3T (a) TR

Consider the following two statements :

{a) The Factory Act 1881 was rather strict.

(b)  The Factory Act 1881, 1892 and 1948 were made applicable to units employing less
and less workers progressively

Answer options :

(1) Both the statements are correct. (2) Neither of the statements is correct.

(3) Statement (a) is correct (b) is not. (4) Statement (b) is correct (a) is not.

76. YRGE UL IS Hais Fhiesaad S FHE Fgolle ?

(1) Aaiest=a eneeAiaTed fafeen=t 92y e 3 agaiel TerEare v Fdt gl
(2) wEE@EN T fafevn= 3= 4Sl HUE TSR HgRT], ANHHgT § A HT=AT SRRV
AT B,

(3) Tefewif waneiTs o s HIRUT Jeflsil TSR egl.

(4) o THE TouE A AR

What would you say of the Moderate Period of the Indian National Movement 7

(1) Regarding the petitions of the Moderates the British policy was to give little and
deny most.

(2) The Moderates thought that it was politically, economically and morally incorrect
to appoint British on high posts.

(3)  The British neglected them as they did not have the support of the people.

(4) None of the above statements is incorrect.
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77. UH.EL & I oS faardier S GIHeyieh Ugd! S8e ot ?

(1) To.TzHEL (2) USTEL (3) Elfee. (4) fo=En.
Which degree was awarded to M.D. Karve by the Mumbai University ?
(1) LL.B. (2) L.LD. (3) D.Lit (4) Ph.D.

78. I TRHS THSTAE IUSIA BV U FRefF 3% 2
(1) T ThemE™ AR Foo . 100, € 1200 . 5000 < =& !
(2) T Hed HLOTAE RN Foe! qgaerd! fRief!
(3) Tafay Herevile & 34 %o TR e |
(4) @ e

Which attempts of the British proved a failure in arresting Umaji Naik ?
(1) A prize of Rs. 100 / Rs. 1200 / Rs. 5000 announced to assist in arresting him.

(2) A threat that if anybody is found assisting him would be executed.
(3) The checkposts set up at various sensitive areas.

(4) All the above.

79. 3ITfcardl o= Ueuld (e HIvd faud S o7y ?
(1)  ITHUd & TEEd Tt A aRaE = IHEe! 9T Wgd Hae.
(2) TR B A S Fr fig Tar TSI T wEA gE F.
(3) NG Hiesh A 3N FeRnd FIEETS 49 FH FO.
(4) IFIATE AT FiA TETS HISH JIATHGT G EAS.
Which of the following statements is incorrect in respect of the Adivasi Movement ?

(1) Shamrao and Godavari Parulekar worked hard for the upliftment of Warlis.

(2)  Balasaheb Kher started his work by founding Hindu Seva Sarnaj.
(3) Tarabai Modak worked at Kosbad in Thane district.
(4)  Anutai Wagh teok inspiration from Tarabai Modak.
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80. SIS T,
(a) ieel wge fro i 1911
(b) ufgat am fral (i) 1853
(c) Ul Brge wREr (i) 1855
(d) ufewr ted " (iv) 1854
@@ (b)) (9 (d)
(1) Gy G @ (@)
@ (v @) 0 @)
G) () () (i) ()
@) Gi) @) @)
Match the pairs :
(a)  First Cotton textile mill (i 1911
(b)  First Jute factory (i) 1853
(c)  First Iron Industry (iif) 1855
(d) First railway track (iv) 1854
(@ (b () (d)
(1) @) ) G )
(2)  (v) () (@) (1)
(3 ) v) (@) (@)
@) () @) @) @
81. il .
TS - 1 ( TS wErEn ) ATET - 11 ( W& e )
(a) Hag-sIm (i) NH-4
(b) HeE-YU-STER (i) NH-17
(c) qU-TEE e (i) NH-3
(d) THaE-FIRU-TE (iv) NH-50
(@ (b) (o) (d)
(1) @) (@) @) (i)
(2) (@) (@) (@) (v)
(3) (v) (1) () ()
(4) () (v) (@) (i)
Match the following :
List - I (National Highway) List - IT (Highway No.)
(a) Mumbai - Agra (i) NH-4
(b) Mumbai-Pune-Bangalore (i) NH-17
(c) Pune-Nashik Road (i) NH-3
(d) Mumbai - Kokan - Goa (iv) NH-50
(@ (b) (o) (d)
(1) @) @ () (i)
(2) () () @) (iv)
(3)  (v) () (i) (D)
4 @) Gv) @O @
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82. YuSH® WSB! I SR 19 doi’ 3/ WS Wi ?

1) TR (2) ¥ (3) wHEGE 4) WO
Which of the following sub-urban areas of Mumbeai is called as a gas chamber ?
(1) Dadar (2) Chembur (3) Byculla (4) Parel
83. ISl @l
e - 1 (U ) T - 11 (9q@ G et )
@ T (g
(b) IR (i)
(c) Tig® (iii) &
(d) wE (iv) TEAR
(@ () (o (d)
1 ® @ G (i)
2) @) (v) () @
@) @) @ (@v) ()
4) @) @ @ @)
Match the following :
List - I (Crops) List-II (main hybrid varieties)
(@) Wheat (i) Suvarna
(b) Jawar (i) Bansi
(c) Rice (i) Laxmi
(d) Cotton (iv) Chinor

(@ () () (d)
O ® @ @) (Qv)

2 @ @) @) @O
Gy G @ Gv) ()
4 @) @ @ @)

84. vl FAEYRY BRA TSy R e S ?

1) TR PR 2) TR BeEwew

() Fwm P (4) -SRI g
Which delta is known as the Green Delta ?

(1) Mahanadi Delta (2) Godavari Delta

(3) Krishna Delta (4) Ganga-Brahmaputra Delta
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85. Tee 3.00 ISl Ged AYH YERIG U Sl SASEER (82° 30' 9 WEEa) A9 R arsa

THEA AT 7
(1) =T 8.30 Frsfa (2)  HHTE 9.30 ard
(3)  HRI 7.30 SIS (4)  HEE 8.30 AT

If the news is broadcast from London at 3.00 AM, at what time will it be heard at Allahabad
(82° 30" East longitude) ?

(1) 8.30 PM (2) 930 AM (3) 730 AM (4) 830 AM
86. el .
faanTar et aferey
(a) Tom () AR’ aerEvErE TS
(b) FeAT (i) wnfeaTed T T
(c) HITL (iti) 11 =41 YIGRTd ATGRIAT TS
(d) @R (iv) egegerEl T
(@ (b)) (9 (d)
M 0 ) G G
@ () v i)
3) (v Gi) (@) 0
4) ) @) ) @
Match the following :
Place Historical Significance
(a) Paithan (i)  Capital of ‘Silhara” Kings
(b) Kalyan (i)  Capital of ‘Shalivahan” Kings
(¢) Achalpur (iii) Capital of Chalukyas in 111" century
(d) Kothapur (iv) Capital of Rashtrakutas
@@ () (o (I
M) O @) G G
@) () Gv) G
G) (v) Gi) @) 6
@ ) G ) 0

87. WHYET ¥ TR IHEA Fdid S A Tegl FHIvw ?

(1)  Ferdqeres (2)  AHE 3) (4) e
Which is the district known for the highest per hectare production of cotton ?
(1)  Yeotmal (2) Amravati (3) Pune (4) Jalgaon
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88. HE o HEFQHEY WIGIBGeh! HI0cal T T AISh 32 ?
(1) 9@Yer-weRd  (2) WAYE-H%T  (3) WE Hao (4) TRed HERE

Which of the following ranges, form a water divide between Narmada and Mahanadi ?
(1) Satpuda and Mahadev {2) Satpuda and Maikal
(3)  Only Maikal (4) Only Mahadev

89. UMM TAWE HYh, gk, FUH YT A9 THOST WB@Uh! Il Fo3l 31 ?

(1) &0 (2) WrAeYW (3) faed (4) HAUSATE

In ancient literature which of the following regions is named as Mushak, Aaluk, Kupak ?

(1) Konkan (2) Khandesh (3) Vidarbha (4) Marathwada
90. sTfvrde gafa U6 e favafsaes #18 o 2

(1) TR 2 T (3) wed (4) A

Wherte is the Asia’s biggest Agricultural University located ?

(1) Hissar (2) Pune (3) Rahuri (4) Dapoli

91. IWHST TRIFHS WIGGUH! H IV TaT= =l HH T 7L 7
(1) i, Tmeredt, €T, fom, oo (2)  ardt, Tierey, §iE, o,
(3)  Toqwm, TTererd, ardt, eom, HiA (4) AT, I, WEE, g, e
From North to South, which of the following sequences of river basins is correct ?
(1) Tapi, Godavari, Sina, Bhima, Krishna
(2) Tapi, Godavari, Sina, Krishna, Bhima
(3) Bhima, Godavari, Tapi, Krishna, Sina
(4) Tapi, Sina, Godavari, Krishna, Bhima

92. YT IR ARANAT Ul 34
TIEarl g1 T HIGT N Bl o A FEHSS AT
(1) zfaor emfem, s, I, R
(2) Ra, TEfem, ATwiw!, TRV FHNH, e
(3) I R, <feur sraferr, i, Arfom
(4) wma, siefoyr, swtenT, ST e, SR sl
Complete the following sentence appropriately.
The Gondwana land was a single landmass that included :
(1)  South America, Africa, Europe, Antarctica
2} India, Australia, Africa, South America, Antarctica

(2)
(3) North America, South America, Europe, Australia
(4) India, Australia, Africa, North America and South America
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93.

94.

30 A

TG THATTYEE AT TG AT HERTZD T 7

(1) e Tafaya (2) Fera fafaem
(3) T@-FHOA falfaygd (4) AU AR

Which of the following main problems concerned with rainfall the state of Maharashtra
faces ?

(1) Spatial diversity (2)  Temporal diversity

(3)  Spatio-temporal diversity () None of these

(1) Td fagd 3 = (2)  IH HIEHD T e HISATE
(3) UYEW AUSATE! 4 WHeY (4) A FIFET T WAL

Which of the following rvegions is known for non-occurrence of basalt used in
construction ?

(1) Eastern Vidarbha and Konkan

(2) North Konkan and Southern Marathwada

(3) Western Marathwada and Khandesh

(4) North Konkan and Khandesh

95.

96.

97. AISTHEGAT STYFIATHIST HTHER HIZT A T3 2

98.

TALFHLS 3T9d: Yok JRe &1 U ?

(1) = (2) E () A (4) ==
What is the semi arid region of Rajasthan called as ?
(1) Bagar (2)  Ghaggar (3) Bangar (4) Khadar

WIASRT IO IARTYES HATTF HhiA1 TSR STEe 2Ial 7
(1) @E-veE b (2)  FdT FaE T4

(3)  HIE HREMI (4) SIS - S S

Which of the following industries provides jobs to the maximum number of people ?
(1) TIron and Steel Industry (2)  Cotton Textile Industry

(3) Sugar Factory (4)  Ship-building Industry

(1) g (2) AR (3)  HEIAI (4)  FEEE
Where from was the marble used in the construction of Taj Mahal brought ?
(1) Jodhpur (2)  Udaipur (3)  Makrana (4)  Jabalpur

WISV 301 Uldertaad 913 wiftaEr’ w99 29 7

(1) -y (2) e (3) Arg (4)  FHa=mmE
Which of the following places was known as ‘Mominabad’ in olden days ?

(1) Parali-Vaijnath (2) Paithan (3)  Beed (4)  Ambejogai
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99,  WERTZIGIS HIVT] YR SHiee Wehie! Sel Jard Sed 3718 ?

(1) =faorwges (2) ufEHFE (3) AWM (4) IHHES
In which part of Maharashtra basalt has the maximum thickness ?
(1)  Southern (2) Western (3) Central (4) Northern

100. WTHGIEH! HIVE TR ST TS ?
(1)  SRETd TIeRad AT qgeuiden foria s o1,
(2) SICHA-TTRIER 9 Tierds JHI0 Haiq FHHT TR,
(3) AT TR HI T TR,
(4) oS THE L

Which of the following sentences is correct ?

(1) In India literacy rate is higher in Females than in Males.
(2)  Andaman - Nicober has the lowest literacy rate.

(3) Literacy is decreasing in India.

(4) None of the above.

101. QSGHSR] FI0dl R A enfele Sev angd ?

(a) HEdH 3cUICH

(b)  Hqfed faem

() < AR

(d) Aol SR

ERIRIcR T

1) (@ (b) () (2) ®H@F(P) (B PHEOIAE @) (@) b)) (d)

Which of the following are the economic objectives of Indian Planning ?
(@) Maximum production

(b) Balanced development

(c) Self-reliance

(d) Economic liberalization

Answer options :

(1) (@), (b), (©) (2) Only (@), (b)  (3) Only(b), () (4 () () () (d)
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102. FREAISGE A TR Foed FEla1IqR TOE SF6T W S0 S -
(a) WESITE &3
(b) A S &
(c)  Sfrad-gfqerad I
(d) = F FER s
i S
1 @) «© 2)  (b), (d) ) (© (d @ @), (b)) ()
Emphasis was given on the following fields as per the strategy prepared by Mahalnobis.
(a) Government sector
(b) Fundamental industry sector
(c) Import-substitution industry

(d) Small scale and Cottage industry
Answer options :

(1) (a), (9 (2)  (b), (d) 3) (o) (d) (4) (@), (b), (c), (d)
103. I Sre ezl
( deeniies Tt ) (<t St /ufaae fasruaa 3 )
(a) 1A ()  SERIHTT, WIS 9 ST 6T T
(by 23 A (i) e, IR U
(c) 8t g (iii)  FETSIEE fqHH
(d) 113 I (iv) U wiqam

@ () (9 (d
W 0 @ G W)
@ ) @) (@) @
@) () () O @
@ @ G ) @)
Match the following :

(Five year plans) (Strategy used in plan period)
(a) 1%t five year plan (i)  Liberalisation, Privatisation and Globalisation
Model
(b) 27 five year plan (i) Harrod, Domar Model
(c) 8t five year plan (iii) Mahalnobis Model
(d) 11 five year plan (iv) PURA (Providing Urban Amenities in Rural
Areas) Model
(@) (b) () (d)
L @ @ @) @w)
(2 (@ @) @) 0
(@) @) @) @ (@Gv)
4 (v) @ G) @)
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104. TEHGYH! HUQ FIE ST 3R ?
(A) ITHTAT ToEItE Ao e Sog 1o gagHET gt 2.
(B)  3fhyeHAl UHaTue Aed 3fqgee Al 3T Hfed g4l 7.

mﬁa”r I ;
(1) & (A) R (2) T (B) I
(3) T (A) AT (B) IR (4) TR (A) A (B) IR A

Which one of the following statements is true ?

(A) The objective of the Eleventh Plan was ‘faster and inclusive growth’.
(B) The objective of the Eleventh Plan was “greater and balanced growth’.
Answer options :

(1) Only (A) is true (2)  Only (B) is true

(3) Both (A) and (B) are true (4) Both (A) and (B) are not true

105. 12 AT AS=41 Hefd Jete shivrd! fasm s 31 ?

(a) ST FeEd 1 TUS 2012 9 31 /E 2017

(b) TraSHrE 9 AER, 9% foskm < &nfur 9.5% fashe <X faarmd sed 3o sTmea.
(c) Arenfirs ok €2 9.6% 1T 10.9%.

(d) i IAEA TR T 5.0% I 5.5%.

a

Wi'ﬁﬁi‘:
(1) = (a) SO (b) (2) W (c) I (d)
(@) e wd 4) wH (a), (b), (0)

Which of the following statements are true while considering the 12th Plan ?
(a) Plan period : 1t April 2012 to 315 March 2017

(b) Considering growth rate 9% and 9.5%, two proposals were prepared.
(¢) Industrial growth rate decided 9.6% and 10.9%

(d) Agricultural growth rate decided 5.0% and 5.5%

Answer options :

(1) Only (a) and (b) (2)  Only (c) and (d)

(3) All the above (4) Only (a), (b), (¢)
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106. WEGUHT HIUT AFHTH] Goarfier A= el TSl T 7
(a) T TR HeReRYiE TeEd (G.D.P) 9% T T,
(b) TAS FEHIEHNA & 9 Uiftzd @RI saawe 0.
() H&® < IWEA (G.D.P.) 8% THd I,
(d) <SR 9% <9 IR (G.D.P.) A FHT 7.6% =Tl
T I
W @060 @ @ () () © @ @ ) © @
Among the following, which were the objectives of the 11" Five Year Plan ?
(@) To increase Gross Domestic Product (G.D.P.) of the whole country to 9%.
(b)  To provide food and nutrition to poor people.
(¢) To take Gross Domestic Product (G.D.I’.) to 8%.
(d) To increase yearly per capita G.D.P. to 7.6%.
Answer options :

(1) f(a), (b), (0 (2) (a), (d) (3) (b) (¢) ) (a), (b), (), (@)
107. T WiHAGH Yefag afed v 9 ?

(1) fowm sfusd (2) EHId

(3)  ITFHTAAT (4) TRy sAfumRT

Who is the Ex-Officio Secretary of the Sarapanch Samiti ?

(1) Extension Officer (2)  Chairman

(3)  Dy. Chairrman (4)  Block Development Officer

108. T SIHEIT SN WH: HIvld! JfFeRT Fmeal ?

(1) v (2) THIRIH (3) fam=s (4) et
What is the chief role of the State Public Service Commission ?
(1)  Adjudicatory  (2) Advisory (3) Regulatory (4) Educational

109. 3= AESATITE= FI0TET faem T e718d ?
(a) I UIHEE- ATHHRRET Hare =AAedTia dibs ST 7.
(b) T SATeETE ATy ST
(c) o Wi Afyewrers T9d.
(d) = i gEEE AR SRS A
it I
(1) (@, ()3 () (2) (b)) A (d) 3) (a), (AT (d) (4) (a), (b)3MT()
Which of the following statements regarding High Courts are correct ?
(a)  Their writ jurisdiction is wider than that of the Supreme Court.
(b)  They are courts of record.
(c) They do not have a primary jurisdiction.

(d) Their decisions are binding on subordinate courts.
Answer options :

1) @ Gand(@© ) G ©@and @) () @ (and(d) @) (), () and (d)
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110. IFT el Jeaal
(a) W () TTE-SER
(b) TegHem@W (i) . SL.AR. HdSH
() TS IR HhSWH (ill) AP KO IATAQ
(d) “EE Rl (iv) SITHIAETE @St
(v) . SFHL
(@ (b) () (d)
1) G Gv) @@ ()
@ @(v) (v () (i)
G) G @) () (i)
@) v () @) @6
Match the following :
(@) Congress (i) Muthai Chettiyar
(b) Hindu Maha Sabha (i) Dr. B.R. Ambedkar
(c) Scheduled Caste Federation (i) Abul Kalam Azad
(d) Justice Party (iv) Shamaprasad Mukherjee
(v) Barrister Jaykar

(@) (b) (9 (d

1 @) @Gv) @ @
@ @) v & (i)
G O @ @) ()
4 & ) @ O

111.

WGB! VAT R YGIEET L AT HEIEANT Ygd a9t S TRl 2
(1) gy (2) TN
(3) H= frasus gH (4) HAE TSI =AEE

Which of the following persons can’t be removed from his post by using Impeachment
Method ?

(1) President (2)
(3) Chief Election Commissioner 4)

Governor

Supreme Court Judge
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112, & QUF sl
(a) TTToh OO G2ad 33% TS STRET TR He1e 4feedl wiwm 19 2.
(b) WS 50% HARET TR F1& T feen shriehr U9 31
(c) 7331 TeTgER B Tenfeh FEUNd HRHE] Ae A A IR,
(d) 73 S HRAGERI B 1995 HEd WL HLvaTd AT,

(1) (@) (d) ) (b, (©) 3) (d) ) (a), (b)

Choose the wrong alternative :

(a) Maharashtra is the first state to grant 33% reservation to women in Panchayat Raj.

(b)  Kerala is the first state in India to grant 50% reservation to women.

(c)  73'9 amendment serves the local Self Government.

(d)  73"¢ amendment was enacted in 1993.

Answer options :

1) (o) () 2 ®)(© CINC) ) (@) ()
113. TR Shldieded Wieie =T fa=m w1 :

(a) TH Afeieh auiq wHld HH! AR AT B,

(b) T et SUAH TG ST 91 g 3iaw.,

(c) WA g care HAferdld SUEuE e Ao vehd].

(d) RAEEA dge] A B warEerEh ded =l

R AToed faum Hag #a.
(1) FI® (a) T AR, (2)  (a) A (b) TS =T,
() (a), (b 3T (c) FET e (4) Hd FER 3.

Consider the following statements about meetings of Gram Sabha :

{a) At least four meetings to be conducted in a financial year.

{b) Maximum gap between the two meetings to be of four months.

(¢}  Sarpanch and in his absence Upsarparnch can convene a meeting.

(d) A meeting of women members to be conducted before Gram Sabha meeting
Choose the right combination of correct statements :

(1) (a) alone is correct. (2) (a) and (b) are correct.

(3) (a), {b) and (c) are correct. (4)  All are correct.

114. I HETEEAF AR e TRwed e gfafee <o o ?
(1) =g 2) Tavem
(3)  erfad (4)  orgfad St
Which of the minority communities was given special representation in the Constituent
Assembly ?
(1)  Sikhs (2)  Christians
(3) Scheduled Castes (4) Scheduled Tribes
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115. U] WS@ HIve Yifrdia Sqroftamy =it Sdd ?
(a) SR (YR SATHHO
(b) T FoT
(C) TUd TSHRRIN A@famamg T
(d) TE® Few
Tatat I
(1) (@), ®) A () (2) (@), (@) () 3) (b)) &AM (d) (4) (a), (b) AOOT(d)
Under which of the following circumstances, can the President declare an emergency ?
(a) External aggression
(b) Internal disturbances
(c)  Failure of the constitutional machinery in the state.
(d) Financial Crisis
Answer options :
1) @ Oad© 2 @ Qand(d () ), (and(d) @ (a), (b)and (d)
116. TUH TEESHIA HIvid ST Ie@r] 33 ?
(1) frEeT= (2) YA SdrETa! STReTor
(3) TAmEET (4) TeEmET e
Which of the following attributes does not apply to the post of Sarpanch ?
(1)  Election (2) Reservation for scheduled castes
(3) Recall (4) Reservation for women
117. ‘&1’ = fafew ufedd @rSiadst Hom HRomM rdE e H2e ?

1y < g formdte yrefyer .

2) fa rd T foame e ot

(3) @ WA fafew Rrevesms AR .

(4) T fofes sfwrerda T #d TR,

Which of the following alternatives would enable a British woman “x’ to obtain Indian
citizenship ?

(1)  She is a lecturer in Pune Universiiy.

(2)  She has married an Indian nale.

(3)  She is representing a British delegation in India.

(4)  She is employed in British embassy.
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118. TAfTdI=A1 AFiCye qoaieal §euid RIvd Turdfires TRen] a%d ?

(1) FT SAHRRR e

(2) =ETEdE HoR A

(3) uitedHT

(4) HTHS

The Directive Principles of state policy are not :

(1) Compatible with Fundamental Rights

2} Justiciable

2
(3) Amendable
(4) Welfare - Oriented

119. ' HERTE UM Y=rd Ifuftam 1958 FER dEmde fausieed e faumie) sioe stieR

AT ?
(1) AR« Ieosd faHea geaam (2) A UR TEUI G&TH THO
(3) N SN F0Ad FL (4) I TS AR

Which one of the following statements is not correct about the dissolution of Panchayat as
per ‘Maharashtra Gram Panchayat Act, 1958 ?

(1)  Violation or misuse of powers (2) Inability to perform duties

(3) Faulting in levying of taxes (4) None of the above

120. THYEEGE 9SG fiTh TROMARREFRET aSad A6l ST A IO Fiedia GreH

L ?
(1) FedEE=A (2) e
(3) uryd gfawn (4) SR g9

What is the contribution of the Gram Sabha for effective functioning of the Gram
Panchayat ?

(1) Financial assistance (2) Security

(3) Infrastructure (4) Ensuring accountability
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121. I S Jed.

HO2

122. YR TTE= HAEEd=a] Tore (aummEn fauan &3

I I
(a) TEHMA T&H (i)  USTIET Iesd
(b) TEISE T (i) ongarYi wE e
(c) s (iil)  IEIATIAS HET
(d) AR T (iv) 14 INiEIST @R K 9 HiRd e
(@ (b) (9 (d)
W 6 @ G )
@ @ (i) (v 0
G) @) () 0 @)
@ v O G ()
Match the following :
I I
(a) Political Principles (i)  Provision of employment
(b)  Social Principles (i) Peaceful co-existence
(¢)  Economic Principles (iii) Organising Village Panchayat
(d) International Principles (iv) Free and compulsory education to the children
below the age of fourteen years.
(@) (b) (o (9
O O @ ) )
@ ) ) @) o
() G v @ @)
@ v 0 ) G

(a) THSHT SFIE = forfew TRl
(b) HEHA = SRl ToIEeAl.

(c) WPiESF T = TSl TSI
(d) wrfas e = Atfoare TerEe

3Tl SRER SHo fguri=t fag #:.
(1) (a) THAT SRS 3. (2)  (a) STV (b) FET HTeq.
(3)  (a), (b) 3T (c) TR AT (4) Fd SR A

Consider the following statements about the sources of Indian Constitution :
(a) Parliamentary Democracy = British Constitution

(b) Federal State = American Constitution.

(c) Directive Principles = Constitution of Ireland.

(d) Concurrent List = Constitution of Australia.

Now choose the right combination of correct statements :

(1) (a) alone is correct. (2) (a) and (b) are correct.

(3) (a), (b) and (c) are correct. (4) Al are correct.
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123. e @

(a) FAHA (i) 9T

(b) TH = (i) Togom

(c) wwardl gt (iii) FRAR
(@) (b) (9

) @ Gy (i)

(2) () (1 (i)

(3) (@) (1 )

4 0 (@) ()

Match the columns :

(a)  Union list (i)  Lighthouses

(b)  State list (i) Education

(¢) Concurrent list (i) Prisons
(@ (b) (9
G) i) (i)

(

() @ (i)
@) (@ (i)
@ (@) @

124. WS SaaaEE (A Hfaae) TEa= Toe [aummis Sivd sier T8 ?
(1) TITE1 3 HARE YHAER A 3a0] 3T 378
(2) < faret gare el 7.
(3) AR, 2005 EA 1 i HE .
(4) © GII gHE 3.
Which one of the following statements is not correct about the Shadow Cabinet’ in
Maharashtra ?
(1) It's purpose is to control the government in power.
(2) Itis a front of opposition parties.

(3) It was formed in January, 2005.
(4) It proved very effective.

125. IO UTHIOT ToTH RO WO ST YRESiehaT JUard Hed &l 7
(1)  JTEw (2) TEHEH (3) wUH (4) TTYERE
Which authority/institution helps to bring transparency and openness in rural politics ?
(1) Gram Sabha (2) Gram Sevak (3) Sarpanch (4) Gram Panchayat

126. WISOUFH!T KU sk TEgaR 2011 Wl 19S5 100 a9 Yot FHet ?

(1) T o sifw sfem (2) d9E IS g6

(3) Hew o AT 3fe (4) 9% 3% sfem

Which of the following Banks completed 100 years in December 2011 ?
(1) Reserve Bank of India (2) Punjab National Bank
(3) Central Bank of India (4) Bank of India
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127. SHTHEET - 10 (GSAT-10) Fad G faum faara =
(A) SITTHTE-10 B 39U 29 TR 2012 Tt I (Kourou) W AT JYF HISUAE 3T,
(B) SITHT-10 T RATT AT da] Faid Sasie IWE 378
(C) SITTHETE-10 B SRI=A1 97 diardie 10 1 ITE 3R,
FGTH IV faem/faam sxier oTRa ?
(1) (A) = @ BFR (3 (AIFB) (@) (A (B)F(Q
Consider the following statements with reference to GSAT-10 satellite :
(A) GSAT-10 was launched from Kourou French Guiana on Sept. 29, 2012
(B) GSAT-10 is India’s heaviest satellite till date.
(C) GSAT-10 is the tenth satellite in the current fleet of the ISRO.

Which of the above statement/s are correct ?
(1) (A) only (2) (B)only (3) (A)and (B) 4) (A), (B) and (O)

128. 86 =41 HAfgw YRATE FE! Hifecd HHSA=A deddie Jela a1 Hiesiqash ol
(A) HHGTS g JEAHST JeANrS Segiol Aied] TR S H0,
(B) HHGT faUer A% WS B
(C) 1 HHS TR ANAIY HIATIe B

(1) FH (A) (2) ®H (B) @) @@ @) (B) Q)
Read the following sentences carefully about the 86" Akhil Bharatiya Marathi Sahitya
Sammelan :

(A) The Sammelan was inaugurated by the Chief Minister Prithviraj Chavan.

(B) The Sammelan was held in Chiplun.

(C) The President of this Sammelan was Nagnath Kottapalle.

Select the correct code.

(1) Only (4) (2) Only (B) () (Ayand B)  (4) (B)and (O)

129. 99 2012 =1 9H g (TR GHldie Teie ael arel.
(A) T R feadl Wew o1 nigcwr e,
(B) ¥ (R o= 5T 77 7 oo 7 el fHare.
oY arg vag fHas.
(1) W (A) (2) T (B) (3) (A) T (B) (4) it TR
Read the following sentences related to The Man Booker Prize of 2012.
(A) This award was won by Hilary Mantel.
(B) This award was won for her novel ‘Bring Up the lavels’.

Select the correct code.
(1) Only (A) (2) Only (B) (3) (A)and (B) (4) None of these
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130. HRRICHI® 96 THEE dgah g Heifaasd a JFHRE Sed AT HI0E A (HMIS) &
Yeheq IS Il -d AT 7
(1) @ wmey, qag (2)  HI S TN, gefg
(3) SN Tuen, as (4) THA T, IO

For computerization of data of all Govt. Medical Colleges and Govt. Hospitals in
Maharashtra where is the Health Management Information System project activated ?
(1) Bombay Hospital, Mumbai (2)  St. George Hospital, Mumbai

(3) 1.J. Hospital, Mumbai (4) Sasoon Hospital, Pune

131. HIVTET YRAE AR FTH=1 A ST HaeA6e WE ACardT Hu-are A
FHITAT A ST 7
(1) fam (2) THIEE (3) & H HiEgel (4) Al
The name of which Indian software company has been added to Chinas kev liaison service

outsoursing companies list ?
(1)  Wipro (2) Infosys (3) Satyam Mahindra (4)  Patani

132. YRAME W &3dte gaifas afadee! dfeet = ®=q 2fea’ 7 Hivme 918 =iid & o1 ?
(1) =& T (2)  Teran vmi

(3) YU Sl (4)  Twau gomEr

Who among the following, was declared by “Fortune India’ to be the most powerful woman
in Indian Industry ?

(1) Chanda Kochar (2)  Shikha Sharma
(3) Karuna Jayanti (4)  Kiran Muzumdar

133. I TSI Thed <o - 4 Hqa §UERl (S 91 oo @i faurH fa=mE =,
(A)  |UEel & iR 25 ufUs 2012 TS 9 ged.
(B) @ =M 3ifacdi Faes 100 feawma i Fe.
(C) &1 U T I - 4 AT TSfEd Tehedr= St 3T g% 3991 v 25

TSR HI Taur,/ e ste #ed ?
(1) (A) = (2) (B) ®¥
(3)  (A) = (B) (4) (), (B) 3 (Q)

Consider the following statements in respect of Lake Tapping of Hydroelectric Project
Phase-4 of Koyana.

(A) Lake Tapping process was done on 25t April 2012.

(B) This work was completed by the engineers in 100 days only.

(C) By this work the production of electricity will be possible throughout the year

continuously.
Which of the above statement/s are correct ?
(1)  (A) only (2)  (B) only
(3) (A)and (B) (4) (A) (B) and (C)
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134. WIOIEURT HIOH Tod SHEER AdeM 0T YRAdS afges 19 o9 ?

(1) ¥Bre (2) TS (3)  IW UEW (4) fagr
Which of the following states became the first in Internet voting ?
(1) Maharashtra (2)  Gujarat (3)  Uttar Pradesh (4)  Bihar

135. YRl [Eeud! S0 faum Ene 6% 7
(1) = e, 09 Avar eFed 4 SUed wid.
(2) = THRA SUSER TFoad.
(3) ST HERAE Aid Hecd & oA 9 $HH WIaH] A d SUSER a; H
(4) TS TR TG AL

Which of the following statements is incorrect about Ramoshis ?

(1)  Onceupon a time robbery was their occupation even before the advent of the British.
(2) They were not all robbers.

(3)  During the British regime they could not avail their position and status and the
Inams were confiscated therefore they began robbery; or

(4) None of the above is incorrect.

136. Q@ fauME foa=m &, (A S0 R)
wfqured (A) . e aEm o1 gemfages sonar S ST I T8 S ST
T (R) : q s, FaeAT T AYSTAE FU el e,
Qs TaEmyd 39l fHeae #:41 :
(1) (A) &1 (R) &1 §=1 &1GA (R) & (A) 3 S FHRU AR,
(2) (A) U (R) T HA 3147 (R) & (A) © TR FHRIT TR
(3) (A) T &8 Tq (R) WIE 8.
4) (A) @R e 9L (R) §cA .

Consider the following statements (A and R) :

Assertion (A) : Higgs Boson sub automic particles are dubbed as ‘God’s particles’.
Reason (R) : They are powerful, everywhere, yet so hard to find.

Select your answer from the following alternatives :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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137. Ffvs s feeiia ‘w@ O =’ 71 &<l f9mn = W gr (ofed v sRade AT

e ?
(1) T & (2) ol THE=E ATF 99 TRF
() FeRiegE™ 2020 (4) e UE= wHad

On which of the novels of Chetan Bhagat Hindi movie ‘Kai Po che” directed by Abhishek
Kapoor is based on ?

(1) Two states (2)  Three mistakes of my life

(3) Revolution 2020 (4)  Five point someone

138. TR =iedi=a1 Hevid® Qe derl Hosged ST,
(A) @A ATGYFHHIST I RSS! T o TRAA ST 3.
(B) 83 forat 1erd fat v wiafafaa e,
Ay At e,
(1) e (A) (2) W (B) (3) (A) @O (B)  (4) AR AR
Read carefully the following sentences about Garima Choudhari :
(A) She is the only Indian Judoko to qualify for London Olympics.
(B) She represented the country in the 83 kg category.

Select correct sentence (s) :
(1) Only (A) (2)  Only (B) (3)  (A) and (B) (4)  None of these

139. &V’ Hewldle wiele T feemm =

(A) 3LV T YRAM FoHaH &IHU[E AT,

(B) 3LV =1 e 5000 .. 2%,

(C) SV 2 527 A 9T A0aT=A 4T TR,

aGUhT IV FIYM Feri= TR/ 31084 ?

(1) (A)®H (2 (B) " () (O ® (4)  (B) M (C)
Consider the following statements in respect of Agni-"V’ :

(A) Agni-V is India’s newest missile.

(B) Agni-V’s range is 5000 kilometer.

(C) Agni-V has a capacity of 5 ton nuclear war head.

Which of the above statements is/are not correct ? :
(1) (A) only (2) (B)only (3) (C) only (4) (B)and ()

140, TR FErea Feer FRR g i e

(1) foare (2)  TermiEA

(3) ¢ e AE Y YR (4) HIET - & o A off 9.
Which one of the following films was not produced by M.F. Hussain ?
(1) Vivah (2) Gajgamini

(3) Through the Eyes of a Painter (4) Meenakshi : A Tale of Three cities.
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141. i dgos Thicadd Fiaurgr fhheayd 90 A1 ae. @ Vgea] UH{eas™ A
HIUTAT Hofeeg o IS Wezert ?
(1) ¥, gaE 79 (2) e, Ay
(3) wferEH, Hag U9 (4) HIlwEAH, BT 349
Sachin Tendulkar has retired from one day international cricket. Against which country
did he play his last ODI and where ?
(1)  England, in Mumbai (2) England, in Pune
(3) Pakistan, in Mumbai (4) Pakistan, in Dhaka

142, A TEHRR HIVE TG et S ?
(1) 10 TERER (2) 10 HgaR! (3) 10 fedax (4) 10 57

On which date is Nobel prize every year awarded ?
(1) 10" October (2) 10t February  (3) 10t December (4: 10" June

143. TA@Ih! HI0 FhasS=a1 THN O 3l Meft widgar, .o a=m g fawm’ e

T AR ?
(1) 4 srae g 2 faean (2) 31 Z
(3) IO S "iew (4) =towd

Which of the following personalities received prestigious ‘Indira Gandhi Prize for Peace,
Disarmament and Development” ?

(1) Luiz Inacio Lula Da Silva (2) lla Bhatt
(3) Illen Johnson Sirleaf (4)  All the above

144. qag oM Fer=A1 [osiquereg Ul fodl el WISl shigsh #qei fSehdl 3118 ?

(1) 20 (2) 25 (3) 35 (4) 40
How many times has the Mumbai team won the Ranji Trophy including this years ?
(1) 20 (2) 25 3y 35 (4) 40

145. VMG Herw AXGATT Tafoshrrs Jiee Ui g=mEd T ST HeX (PRTC) 1S IHRUATET &
ITHATET faR T ?
(1) e amm (2 vemfag (@) e CON A

Where is the Central Govt. going to establish a PRTC to train all the Sarpanch for village
development ?

(1) Hivare Bazar  (2) Ralegan Sidhi (3) Katewadi (4) Pune
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146, SIS Galis HaU=aT S Yool IYRa! Ir=o]  HRUMRT <7 HIvidT ?
(1) SO (2) == (3) At (4) HH

Which of the following countries has successfully conducted a test run of the world’s
longest high speed railway ?

(1) Japan (2) China (3) Germany (4) France

147, T - 1= A7 - 11 SRR Uit Y 1107 Wit fSeameyd aler Hiskfas 7@ a &l fqer.

T - 1 AT - 11
(a) TAEHE FoE G T
(b) VgD =g (i) < foze am
(c) WA dga (i) < TAR
(d) e TmeEst (iv) HIE S
(v) <&

(@ (b) () (d)
M G @ G @)
2 @ © O )
G v ) G @
(4) G) @) 6

Match List - I with List - II and select the correct code given below :

List - I List - II
(@) Nawab of Pataudi (i) The wall
(b) Rahul Dravid (i) The Little Master
(c) Sachin Tendulkar (iii) The Tiger
(d) Sunil Gavaskar (iv) Master Blaster
(v) Dada

@@ (b) (9 (d)
1 @) @O ) @)
@ @ « O
@) v (@) @ @
@ @ @ @ (v
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148. TGOS f99H Belld =41 ¢
(A) ST o= A J GUET € (IFPRI) S S SueHRE feodt getfaom
MBS TG .
(B) 2012 =1 SRS HNG 65 AT FHHTHER AT,
FUGUR! HIV /0 fagm foes R/ 31mea ?
(1) K (A) (2) ™ (B) @) = (4) IO T
Consider the following statements :

(A) International Food Policy Research Institute (IFPRI) releases the report on Global
Hunger Index.

(B) India is placed 65t in rank in the 2012 report.

Which of the above statements is/are correct ?

(1) Only (A) (2) Only (B) (3) Both (A) and (B) (4) None of them

149. WTIfde I IS AT fRdar wHi% Sl ?

(1) i (2) =¥y (3) foww (4) =
What rank does India hold in the world in the agricultural output ?
(1) First (2) Second (3) Third (4) Fourth

150. . Yfed Yasist Fi=a1 aead=ql Wiole faureR e foar #3.
(a) YR RUA §H.
(b) T o T HaArE.
(c) T ‘I FHG AW & S A g fafew TR’ frerer wy ‘ot s sfare’

[REI IR

TR o faumE! Hag #.

(1) +9% (a) T 3. 2) () 3T (b) IS 3=

(3)  (a) S (c) ST 3T (4) (), (b) T () TG 37T,

Consider the following statements about late Pandit Ravishanker :

(a) Honoured with Bharat Ratna

(b) Three times Grammy Award

(c) He received ‘Knight Commander of the order of the British Empire” but not the
‘Silver Bear Award’. '

Choose right combination of correct statements.

(1) (a) alone is correct. (2) (a) and (b) are correct.
(3) (a) and (c) are correct. (4) (a), (b) and (c) are correct.
-00o-
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Al — (9= 1 984 U8....)

©) wfEwTe fafeq Foem faftre Spf= &= &M (36 o%) ®E, JefERaaidiad STaEaat a1
TR HARE Fod A Hed™ d hidl FLUATA JUM FS AR, T IHS TIN50 9 AR SHCARR
TRFAR S Fee e A R qiE s SEE-22" AR eaeER SReT
TGS J3S F oY) o] FHIS Uk Jure RIETETA A1/ fohar $99 UHh g9 TRH=AT e g foey
A BR.

9) T YR AT fafsd FOP 9w HUeaHE UGS B TR AR TSIk ey
3T ST Gl 8. WA UUeTl HeITangy SUdaTgal SUeENA TUedT IATUieh e WIi-1
THAYHTERS 7 fawan o Hy Hayad 7.

AT U9H
¥ . 201, Hardl 96 T FIOIAHE] FIU JIF: JIA hos ?
Q) T SEEE HEEd! ) sroEs foumm
@) T TR W (4)  TiaTeEF e
B Y A I (3) TS UHART 3 Y . @e 91 yeE S (3)) dRe. andd
GIHATTAO G F. 201 OIS SH-kHiE Q)" T Ig@ ivn wEfEd wF qrfan

%21 D Q @ ®

I TEA YA IYRAHAG Jods T qHEl ST HIG & grTel wasie o
IS & T YR THTEOG Hafud dades quiqul 21ifed +%d eTEdrEl.  greRivar
e 1Al IS Ao aTuTd, Uf-ae or omge U are =4,
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